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"Do not write anything on question-paper except Roll
Number, otherwise it shall be deemed as an act of
indulging in unfair means and action shall b+ taken as
per rules."

Roll No. .eececiecvinnnnn
B.Com (H) (F) BFE

2603 BUSS. STATS.

B.COM (HONS) (FINAL) BUSINESS
FINANCE & ECONOMICS

EXAMINATION - 2018
CORE PAPER- 111
BUSINESS STATISTICS
Time - Three Hours
Maximum Marks - 100
PART-A / A1 T-H

e~ (1) -1 & T g @ A & | s uEl @
I} wlF 30 el da WY § | vdd e 2
31 HTE |

Note:- (1) The questions of Part-A are compulsory. The

answers of these questions are limited upto 30
words each. Each question carries 2 marks.

PART-B /HI -4
AT — (2) TS sH1E A W B WA (31) 31T (3) BT g9
R Y &l Uid U & Iar o | TB
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Note:- (2) Attempt FIVE questions in all, selecting ONE
question from each (a) or (b) from each unit. The
answer of each question shall be limited upto 250
words. Each question carries 7 marks.

PART-C / AT1—9
Ae— (3) 39 9 & g I 9wl B IaR AR | IqF
U9 BT IR ATHT 500 YE] BT 8 | TS UvT
15T PIE |

Note:- (3) Attempt THREE questions in all from this part.
The answer of each question shall be limited upto
500 words. Each question carries 15 marks.

PART-A /49718

1. Enumerate any three points to be taken into consideration
while selecting a suitable method for collection of primary
date.

TTIe THG HUEY B Suga AT F 99 B GG
T T g3l &Y aarsd o R far Fwn wifg )
2. Statethe Fisher's formula of Time Reversal Test.

SR & W Iehvadn geroT &1 93 9agd |

3. What is the relationship between mean, geometric mean
and harmonic mean generally?

HHIIR AL, TOTR H1ed 9 BT ARg § Qe adm
T BIar ?

4. Explain the least square method of Ascertaining Trend
Values.
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What 1s the difference between absolute and relative
measures of dispersion?

fAvder vg wme safdwor & Al § agr 3w 87
Distinguish between probable error and standard error.

[T fams T vy fus & 3o aarsd |

State the limitations of business forecasting.
T gaf A &t AT arsd |

Give the equation for a binomial expansion method when
known values are five.

S/ ST el A G 5 @ Al [29e AR AR 3 R
|HEvoT frfaw |
Give the formulae for finding out Birth, Death and
Fertility Rates.
S, g Ud G &) 91 AR B A ST |
Why are there two regression lines?
ydRTR YA <) 91 gl 87
PART-B / 91T—4

(A) "Secondary date should never be used without careful
enquiry.” Comment on this statement.

“Hrae 9 9 {6 fa fgdas gHat @1 & of
AR T8 ST TR | 39 AT B e Hifw |
OR / Jterar

(B) Inthe year 2017, in Jodhpur the price index was 204.6.
Percentage increase in prices during the period were:
Rent and Rates 65, clothing 220, Fuel and Light 110,
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miscellaneous 125. What was the percentage increase
in the food group? Given that the weights of the
different items in the group were as follows: Food 60,
Rent and Rates 16, Clothing 12, Fuel and light 8,
Miscellaneous 4.

a4 2017 ¥ SR B FTH T4 B JADID 2046 AT |
I A & Yl A yfdera gfE 39 R =07 fm
q BN 65, I 220, A g WbTH 110, fafawr 125 | @@
AYE @ o A @ ufava 3 gy g3° wEl @ fafr=
7Sl BT YR 39 USR AT— W@ 60, fdwrar a &1 1s,
JEF 12, 2UH 9 UH191 8 3R fafqw 4,

2. (A)"In collection and tabulation, common sense is the

chief requisite and experience the chief teacher.” -
Bowley, Explain this statement.

“HEY a1 ARV R 9 fads wia amavas @
TqAT A Y@ HIISYS —q1S, 39 HUF D ARAI
Ty | http:/Awww nvuonline.com

OR /341

(B) Ten percent of the workers in a firm, employing a total
of 2000 men, each less than ¥ 2.00 per day. 480 each
from¥ 2.00to ¥ 2.24 per day, 30% each from¥ 2.25 10
¥ 2.49 per day, 370 each from ¥ 2.50 to T 2.74 per day,
12% each from ¥ 2.75 to T 2.99 per day and the rest
each ¥ 3.00 or more per day. What is the median wage?

TS B4 B 2000 AR ¥ F 10% FHERY 2 T
gfafes | &9 UM B 2, 480 FHAT 2 ¥ W 224 ¥
ufafes, 30 % FHar 225 § § 249 T gfafe, 370
FHA 250 T 2.74 T TP, 12 % PHARI 2.75F | 2.99
T yfafes, 9w odar) 3 T 31 399 A& Ia9 wra
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(A) Explain why the standard deviation is regarded as

superior to other measures of dispersion? What is its
chief defeat?

g7 famer amafdxor & = At & o A s
3231 ) W1 I 2?7 $HGT T a9 347 87
OR /3r4n

(B) The mean of 5 observations is 4.4 and the vanance 1s
8.24. If three of the five observations are 1, 2 and 6,
find the other two.

5 AU HT ARG 4.4 2 AR fExor g24 2 Tfe dfw
Fayef # 9 1, 2, T 6 & A1 7 T I
DI |

(A) "The long run Survival of a firm depends upon its

ability to forecast the business environment in which
it operates.” Discuss.

“fd v &1 Seeifos o Swe aEaiis
qUATReT & R A qatgAe T @Y Age R R
Fear 2 fad== SR

OR /3gar

(B) From the following data, interpolate the number of
persons earnings between ¥ 500 and T 540.
fr=forfad awa! | 500 T AT 540 T @ Ay (7Y aTo
feral &Y TR TR &7 AT BT

5. (A) Explain crude and standard death rates. Discuss the

methods used in finding standard death rate.
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income in¥

400-450 | 450-500 | 500-550 | 550-600 | 600-650 |

no of persons

100 140 280 160 200

fad

3078 6
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OR / 341

(B) The annual birth is 30 in a certain town per 1000
females in the child bearing age (15-50). The
percentage of females within the child bearing age
group is 60% of the total number of females and the
sex composition of the population is 950 females per
1,000 males. The total population in the town is
estimated to be 10,000. Estimate the total number of
children born in the town during the year.

PART-C / ATT—-9
What do you mean by splicing? How is it prepared? Give
example.
ARE=E A 39 e 27 98 39 agR R o 8?
IeTERoT A |
What is trend? How would you find out the trend values by

the method of least squares? Illustrate by a numerical
example.

SyAfa T &7 <gan @ $fY g™ g STl gew b9
HTe[H F? HEATHS SIEXT DY AHATY |

On the basis of following information find Karl Pearson's
coefficient of correlation between Age and Illitracy:

frefafen gamel @ smuR R oy Ud FRewan @ 7
et fEREA & WewEH UIid Fid ST
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X Total ulation Literate
Age in Years, (iT %0) Population (in '00)
10-20 1200 1100
20 - 30 1000 925
30 - 40 800 740
40 - 50 500 470
50 - 60 250 230
60 - 70 150 140
70 - 80 50 45

4. Discuss the utility of interpolation and extrapolation to a
business man. What are the different methods known to

you for interpolation?
TS AT & AT =R U8 STerTo &) SudifrdT &1
oI PIIT | M7 Y B W Dt smuent fafea 87

Explain the term "regression” and its utility in economic
analysis. How are regression equation derived? Explain
by an example.

e &1 aref gor 99 anfife fAvewor § sumfar
gaarzd | uferm wftery 5 uaR fAered o 27
IeTervr Tfed gHEngd |
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